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Exercice 1

Effectuer les conversions suivantes :

◮1. 40 cm
2
= . . . . . . . . . . mm

2

◮2. 13,3 km
2
= . . . . . . . . dam

2

◮3. 8,29 km
2
= . . . . . . . . dam

2

◮4. 65,1 km
2
= . . . . . . . . . hm

2

◮5. 72,3 dm
2
= . . . . . . . . dam

2

◮6. 62,4m
2
= . . . . . . . . . . . cm

2

Exercice 2

Effectuer les conversions suivantes :

◮1. 46,2 dam
2
= . . . . . . . . hm

2

◮2. 3,11 dam
2
= . . . . . . . . dm

2

◮3. 59,4m
2
= . . . . . . . . . . . cm

2

◮4. 32,9 dm
2
= . . . . . . . . . . m

2

◮5. 8,84 hm
2
= . . . . . . . . dam

2

◮6. 80,1m
2
= . . . . . . . . . dam

2

Exercice 3

Effectuer les conversions suivantes :

◮1. 1,68 cm
2
= . . . . . . . . . . . m

2

◮2. 64,7 cm
2
= . . . . . . . . . mm

2

◮3. 3,93 dm
2
= . . . . . . . . mm

2

◮4. 95,8 dam
2
= . . . . . . . . hm

2

◮5. 7,37 dam
2
= . . . . . . . . . m

2

◮6. 24m
2
= . . . . . . . . . . . . hm

2

Exercice 4

Effectuer les conversions suivantes :

◮1. 4,74 dm
2
= . . . . . . . . dam

2

◮2. 7,77 hm
2
= . . . . . . . . . . m

2

◮3. 1,24 cm
2
= . . . . . . . . . mm

2

◮4. 6,4m
2
= . . . . . . . . . . . dm

2

◮5. 4,58 cm
2
= . . . . . . . . . . . m

2

◮6. 7,98 cm
2
= . . . . . . . . . . . m

2

Exercice 5

Effectuer les conversions suivantes :

◮1. 1,32m
2
= . . . . . . . . . dam

2

◮2. 44,5 hm
2
= . . . . . . . . . . m

2

◮3. 31,3 dm
2
= . . . . . . . . dam

2

◮4. 50,9 dam
2
= . . . . . . . . dm

2

◮5. 7,63 dm
2
= . . . . . . . . mm

2

◮6. 79,4 km
2
= . . . . . . . . . hm

2

Exercice 6

Effectuer les conversions suivantes :

◮1. 5,1 dm
2
= . . . . . . . . . . cm

2

◮2. 9,68 dam
2
= . . . . . . . . . m

2

◮3. 1,57 cm
2
= . . . . . . . . . dm

2

◮4. 74,7 dam
2
= . . . . . . . . hm

2

◮5. 2,67m
2
= . . . . . . . . . . hm

2

◮6. 72,9 dam
2
= . . . . . . . . . m

2

Exercice 7

Effectuer les conversions suivantes :

◮1. 7,03 cm
2
= . . . . . . . . . dm

2

◮2. 53,5 hm
2
= . . . . . . . . dam

2

◮3. 7,27 cm
2
= . . . . . . . . . dm

2

◮4. 9,14 dam
2
= . . . . . . . . dm

2

◮5. 5,47 dam
2
= . . . . . . . . . m

2

◮6. 39,3 hm
2
= . . . . . . . . . . m

2
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